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High-dimensional data analysis, Video class, 12/13(Tue) 14:00-16:50

Video from Lecture 2 - Part a - Statistical Learning with Applications in R - Linear Regression https://www,.voutube com/watch?v=0RzaKZRgens
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Step 1: Read all questions before the video starts (15minutes)
(5 minutes break)

Step 2: See the video (1 hour). You can write answer during the video
(5 minutes break)

Step 3: Complete answer (up to 16:50).
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\/ 8. Define R* by a formula.
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9. Write R® in terms of the correlation between x and y?
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1. Write an interpretation of regression coeffcients in words.
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2. Draw a graphical display of fitting 2D plane for X =Radiaand X,=TV.
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C. VariabléS¢lection *
1. List up all 2-subset models for variables (X, X,, X;, X,) .
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2. How many combinations of subset models are possible for p variables?

)t =10 )= 2"

[
| 3. How many model fitting steps are necessary in forward selection with p=40 variables.
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( 4. Describe the bdd(ward selecTion.
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